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. o TERMEDIATE PART-II (12" CLASS)
JLOGY  PAPER-11  (NEW SCHEME) GROUP-II

ME ALLOWED: 20 Minutes OBJECTIVE MAXIMUM MARKS: 17
:.‘{NE! You havefour choices for each objective type question as A, B, C und . The choice which you
hink iy correet,:fill that bubble in froat of that question number. Use marker or pen to fill the bubbles.
Zutting or filling two or more bubbles will result in zero mark in that question, Attempt as many
juestions as given in objective type question paper and leave others blunk. No eredit will be awarded in
e BUBBLES are nut Tilled. Do not solve questions on this sheet of OBJECTIVE PAPER.

JNo.d
i) ADH affects which part of nephiron? (A) Walls ol collecting duet
(B) Glomerulus (C) Walls of loop of Henle {D} Proximal convulated tubule
(23 Hag lishes are:
(A} Osmoregulators (3} Isotonic (C) Hypertonic (D) Hypotonic
Ay Al ol the following arc associated with coxal bone except:
(A) Tium {B) Ischium (C} Pubis (D) Clavicle
Ay The anpulur thickening in primary wall of cell is present in:
(A) Parenchyma (B) Collenchyma (C) Sclerenchyma (D) Sieve tubes
S Which type of light promote germination of Fern spores?

(A) Green (13) Red {C) Blue {13} White

16)  Temperature g.fnuncl 47 stimulates the production of:

() Florigen (14) Vernalin (C) Auxing (Dylsthene
@ The s'tngc‘ihai Tasts for days, wecks or even years:
" (A} Leptotene (B) Zygotene (C) Pachytene (3 Diplowene
(& " Ct.ll _Jéftfﬁ due to tissue damage is called:
; .Mr} .-Apo.;;tu.si;: : (11) Metastasis (CY Necrosis {13} Suicide
o, 'Tll't':rsjll?'iﬁllé:il'[brm ol learning behaviour is:
. l.-"l.} illlpri.miné - (B) Habitation (ChInsight learning  {D) Latent learning
('.0}- In which developmental stage, germ layers aﬁ: formed?
(A) CI:l:-uvagc (B) Blagwila (C) Gastrula (D} Organogenesis
(11 ‘\Et’hic_h STlfiind of DNA 15 transeribed?
(A) lCuding {3) Scnse (C) Template {D) Both strands
2y The type off illhihcritan::s.- With'same phenotypic and genotypic ralio, in F2:
(A) i’)u_minancu (B) Epistasis {C} [ncomplete dominance (D) Co-dominance
(13)  The childgen with SCID™ lack un enzyme: {A) @ - galactosidase
(3) II’Iw:inyla,iéniuc hydroxylase (C) Adenosine deaminase (D) Suceinic dehydrogenase

(14)  Hamologous .gi.‘n.lciures represent:

(A) C‘.onlvcrgcnl evolution (B} Analogy (C) Divergent evolution () Functional similarity
(15)  Limnetic phytoplankton includes:

(A) Bacteria {13} Algae {C) Mosses {D) Cyanobactetia
{16) !.s'uujy':'ﬂ'&inglc pupulation’s relationship 10 environment is:

(A) Autecology (B} Synecology (C) Ecology (D) Community ceolopy
(17), 'I'h::rc:i:.'isr:_'-nl'- kw_nshiurkur discase is:

{A) Pathogen () Mewbolic disorder  (C) Nutrttiona? deficiency (D) Aging
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. INTERMEDIATE PART-11 (12" CLASS)
‘OLOGY PAPER-Il (NEW SCHEME)  GROUP-11
IME ALLOWED: 2.40 Hours SUBJECTIVE MAXIMUM MARKS: 68

NOTE: - Write same question number and its part number on answer book,
as piven in the question paper.

SECTION-I
2 Altempt uny eight parts. Bx2=16
() Write at least two important characters of Hydrophyles.

{ii) Differentiate between Osmoconformer and Osmoregulators.
(iii)  What is Pyrogen? Give its role.

liv)  How exercise effect the muscle?

(v}  What is secondary growth? How it occurs?

(vi)  Define Bone, Write the names ol cells associated with the bone.
(vii)  What are Restriction Endonucleases?

{viii) Define Tug Polymerase. Give its source.

(ix}  Differentiate between alpine and boreal forest.

(x)  Give the characteristics of profundat zone.

(xi)  What is vzone luyer?

(xii)  ‘Write two disadvantages of Nuclear energy.

1 Attempt any eight parts, 8x2=16
(i) Write any two commercial applications of Gibberellins.
(i) Deseribe action of Nicoline on coordination in animals.
(i) Discuss the role of progesterone in reproductive eycle of human females.
(iv)  What is “Fruit set” in plants? Discuss the role of pollen grain in it.
(v) Deseribe Spermatogenesis-the formation of sperms in buman males.
(vi}  What is Menupause?
(vii)  Write down any lour contrasting traits of garden pea studied by G. Mendel,
(viil)  What is Over-Dominance?
(ix)y  .Deseribe X0 - XX type of sex determination.
- (x)} - What do.you know about Commensalism?

. (%} . Define Predation.  Explain it with at least two examples.

(xii} Define Plant Succession.

-

4. Attempt any six purts, 6x2=12
(i) What is embryonic induction?
(ii} What is Neuvolation?
{11} What is crossing over?
(iv) Diflerentiate between Karyokinesis 4nd € ytokinesis.
(v} - Whatis a gene frequency?

{vi) State Hardy-Weinberg theorem.

{vii} Differentiate between Euchromatin and Heterochromatin,
{viii} ~What is Transcription’?

(ix). - What is nucleotide and nueleoside?

- SECTION-II
NOTE: - Attempt unydhree questions, Jxg=24
5.w) . Give a detailed sccount on excretory system in earthworm, 4
(b)  Desenibethe (i, - cycle. 4
6.(a) - Whatare Joinis? Describe their different types. 4
(b)  Describe how Hershey and chase prove that DNA is the heredity material? 4
T4a)  Describe the functions of thyroid gland. 4
(b)  Whatisacid ruin?  Stote its cnuse und effeets on environment. 4

8.(u) . What are different physivlogical changes oceur during the process of birth in human female? 4

(b)  Deline incomplete dominunce.  Explain it with an example. 4
9.(a) Describe role of nucleus in development. 4
(b} Deseribe comparative anutomy and comparative embryology as an evidence of evalution, 4
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